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1.

INSTRUCTIONS TO CANDIDATES

Immediately after the commencement of the Examination, you should check that
this Booklet does not have any unprinted or torn or missing pages or items, etc.
If any of the above defects is found, get it replaced by a Complete Question Booklet

of the available series.
Write clearly the Question Booklet Version CodeA, B, C, D orE, inthe appropriate

space provided for the purpose, in the OMR Answer Sheet.
Enter the name of the Subject, Reg. No., Question Booklet Version Code and affix
Signature on the OMR sheet. As the answer sheets are designed to suit the Optical
Mark Reader (OMR) system, special care should be taken to fill those items
accurately.

This Question Booklet contains 55 questions, Part A contains 40 questions ofone
mark each and Part B contains 15 questions of 2 marks each. All questions must
be attempted. Each question contains four answers, among them one correct answer
should be selected and shade the corresponding option in the OMR sheet.

All the answers should be marked only on the OMR sheet provided and only with
a black or blue ink ball point pen. If more than one circle is shaded / wrongly

shaded / half shaded for a given question no marks will be awarded.
Questions are in both English and Kannada. If any confusion arises in the Kannada
version, please refer to the English version of the questions.

Immediately after the final bell indicating the closure of the examination, stop making
any further markings in the OMR Answer Sheet. Be seated till the OMR Answer
Sheet is collected. After handing over the OMR Answer Sheet to the Invigilator you

may leave the examination hall.
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PART—A

NN — R
(1x40=40)

Note : Answerall questions. Each question carries one mark.

2R : D TBRENR YUZOA. 2,3 BIJ7 20T €90%.
1. I.L.O. means
a) International Law Office b) International Labour Organisation
c) International Legal Organisation d) Indian Labour Organisation
b) cao@,ac‘aaéeiécf e3e)o° e:sﬁrig,ﬁe—m‘

I.L.O. 20w3
. a) @o&@‘masa’dof € E3QCA°
C) QoET TRYII’ Oene* e.—srfr@zé’em’as‘ d) 20803x° Sews® wﬁr%ﬁesﬁa‘
2 Bonded Labour (Abolition) Act was passed in
a) 1826 b) 1947
c) 1976 d) 1956
2368 W3S (amds-'a?) 52032 23001 20T,
a) 1826 b) 1947
c) 1976 d) 1956
ry which one of the following is popularty

After Legislature, Executive and Judicia

known as 4th important pillar of the Democracy ?
b) Health Sector

a) Education Sector
d) Tax Collection

c) Mass Media
O3RE 0N TR méoimor{cﬁmo@ﬁ GU{ADTSYASS .0 TOOTE s@dgoz;izsodo

TORFOON, T

mmax%m@m

a) d8 83, b) esSrer 863,
d) 3onRon®

c) Bowe®d abaq%d:
SPACE FOR ROUGH WORK
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b) Court Judgements o

4. Mass Media moulds
a) Public Opinion '
d) Foreign Policy

c¢) Climate Change
RR® GO 2)OURITTI.
a) FRF AT €TI0 b) =9,037°©0D SeT)FNFO .
C) T0BIRTED LTS d) QB33 Aed
5. An example of electronic media is
a) Magazine b) Television
c) Newspaper d) Journal
DT TR FOT 2,00 YUTIBTESIRNG. )
a) SPADF b) &3NS
c) OIwEF d) =IFS®
6. Tourism department describes India as
a) Good India b) Famous India
d) Indiscriminate India

c) Incredible India
TEIORR L0 BURASOTN LIOTBDR doerd R

a) nozE® QOBOIN b) FHesom® Q0T3P

C) VI BZRWO” R0RCIR d) o RyROSeEs Q0R03R

d) 1.24 Million

7. India has a population of
c) 1.24 Billion

a) 1.5Billion b) 1.5 Million

TR ADleTcIn] ada’a’oafgs

a) 1.5 o38nees b) 1.5 303 c) 1.24338need d) 1.24 B30T,
8. As per the 2011 census the percentage of Hindus in India is

a) 75.5% b) 90.5 % c) 80.5% d) 70.5%

20110 23nead0d @500 12088 wIR05,0300, L0TRNE Se8reasmstd HBIoed

a) 75.5% b) 90.5 % c) 80.5% d) 70.5%

SPACE FOR ROUGH WORK
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11.

12,

13.

N

(R A O OO
9. The original name of Buddha
¢) Shuddhodana d) Rahula

10.

a) Mahaveera b) Siddhartha

LTS S BRI
a) sr3o0eT b) ATREFF c) BodRess d) oosw
Thereare ________number of Theerthankaras.
a) 24 b) 48 C) 44 d) 34
o SPOF BOTOS 183, SeTF 0TTD
a) 24 b) 48 c) 44 d) 34
~_ said ‘Human society has the cradle in the rural group’.
a) Socrates b) Bogardus c) AW.Green d) Karl Marx
SOF, RBRBT SR MRITOT 0T C3RTO BEYTT ?
a) BB b) WBeroEFA® C) & B, N d) BUE IRTF
Dominance of primary relations exists in
a) Social organisation b) Association
c) Urban community d) Rural community
@dmé FowoEne agzsaa’ba" 0328), FoBOWTIYT.
a) AEINTIT ROPEIS b) Ros
d) TRR0eE RO

¢) SrY ARV

Expanded form of MGNREGA
a) Mahatma Gandhi National Rural Employment Guarantee Scheme
nal Regional Enhancement Guarantee Scheme

b) Mahatma Gandhi Natio
c) Minority Group and Rural Employment Growth Scheme
owth Scheme

d) Major Guaranteed New Rural Employment and Education Gr

MGNREGA ¢ 238 SaERz)0ed.
a) WTIFMOOE) mageﬁso’ef BRTE® 053037 &0 mﬁdow 280

b) REBIFTOOR TYII® VWIS X T,Q7 530K TWT0L3 30

c) R0 NRF Lo’ BRTT® 0037 TR0 TRR” ALO
d) soexo® MR,Cob3ers Sy TRATYT womOI 23083° 30T AUIBEST LG’ ALO

SPACE FOR ROUGH WORK

Scanned by CamScanner



NS -
14.

15.

16.

17.

nmmm‘n“

-6+
. the bas!
.. ation is made on 18.
Gender discrimination b) Caste ‘
a) Religion d) Race
Brjeciat

; t
c) Socio-cultural aspec o i .
; b) w303

SonzassF__——

a) PsOF
c) MRPIB-T0T I8

According to 2011, India Census t
a) 914/1000 males
c) 846/1000 males

he sex ratio is
b) 949/1000 males

d) 915/1000 males

20113 (03T HINES Sstole) oM
b) 949/1000 70T

a) 914/1000 1o
c) 846/1000 Rogd

d) 915/1000 Rowd

between different communities and religious

Communalism denotes

groups.
a) Antagonism
c) Disharmony

b) Harmony
d) Friendship

20 E305S DG B0T0HNED TR TIQOF B MOORYNY RIT, DR BN

a) a‘:@%
c) f-—uaabd;g’,daoa’é

Regionalism is another form of

a) Universalism

b) =0,
d) ﬁ_gaﬂﬁowoaﬁ

b) Globalization
d) Parochialism

c) Socialism
Yot Nevecioveblatatel f&?&@gd) ORTNT

a) B33 b) =n3estwe

C) AR d) TTededdes
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18. R is a best example for inter-state Regionalism.
a) Narrnada Bachao Andolan b) Save Ganga
¢) Kargil War d) BelagaviBorder Dispute
s 8030002 303603031 SUEd GUEIRTROIRNG.
a) TSOFT WIIOP S0TRCOT b) nomePa .
d) W38N NG NwT

19.

20.

21.

C) SNFe* oiaaci
Which one of the following is the growing social problem of modern India ?

a) Cyber crime
b) Cauvery river-water dispute
c) Communalism and Religious Fundamentalism

d) Climate change
FINSINIS ST Lgo0BEE Feremon LIFod0gTon wmaaﬁ AR, IR ?

a) %&JU‘ [Chuening
b) 300 SOT® DT
C) BRETVTOTI TN OIF T WARVLIRBIT

d) @OTOTTL WD

Who has suggested six dimensions of Communalism ?

a) M. N. Srinivas b) T.K.Oommen

c) Auguste Comte d) Albert Einstein
ZRERVTITE B0 330 Bmd)ﬁda’% ERTRTI ATV ?

a) . " §ER b) & 3. wOB®

c) &na’, BReT, ' d) SO F DI A

Which of the following is an example for practicing of Regionalism ?
b) Congress Party

a) Shiva Sena
c) Green Peace Organisation d) Bharatiya Janata Party

FFNSYNTE) 59,0300 TR LVTIBOES CINTYT0 ?
b) ®onR=* =

a) &z 7S
C) NES° QER° ROPI d) 2008e0d wIT TT,
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NS'$%29 the economy ©
izati i ' 330 . i
2 GIODE::; fon 2 b) Disintegratlng 37 27 E
economy. S
a) Integrating d) Limiting o5 |
c) Destroying 3030 BT8R esQF BSOS ;
corSe30eRes 20w BBE SBF p) DOERRY, DT
a) DOSRENDT d) FNePSASCT m@#o:ﬁ}ﬂb
C) L—;_?SO";\JJ( o":?—_\b:j‘dJ
23. Mono-culturalism is the practice of PreSeNIng tra-culture d) Tissue-culture of
a) Single culture b) Multi-culture c) Con
2 )
2B 207,853 33 20033 FSN CIRDTI, NOd"ﬁxﬁJmmg d) s38R 200°
b) > RoRS c) T0R, TT° ) O3 )

Who gave the concept of McDonaldization ?
b) George Ritzer

24.
d) M. N. Srinivas

a) Auguste Comte

c¢) Emile Durkheim
.:’U‘ TR ET‘uZ‘E?\AW w@u@&mds eBTRTD C3RTO ?

a) dﬁx; am:bz b) esoess D807
C) WO BDesFo d) 2. . § TR
25. The Child Labour (Prohibition and Regulation) Act was passed in
a) 1986 b) 2001 c) 1976 d) 2015
T TR (Jeer TN QDo es) F903) 250N OTIT),
a) 1986 b) 2001 c) 1976 d) 2015
26. Oldest holy scripture of India is
a) Manu Smruthi b) Bhagavad Geetha
c) Upanishath d) RigVeda
RS B 08 TR W, 05
)
a) :b:%e b) BRI
C) UUW’V d) mried
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27

Jainism started in

a) 6" Century BCE b) 5™ Century BCE
c) 6" Century BC d) 4" Century BC
TR CIND SIRPIBY, TT0LIT008) ?

a) 63¢ I3RS BCE b) 53¢ 32R»3IBCE
c) 63¢3BSRIBC d) 48e83=53BC

Sacred holy place of Christian is

28.
a) Constantinopel b) Paris
c) Vatican city d) Venice
33 PROF T 9808 BOFRE S
a) TR A OLIPET b) s,0%°
C) Fesso® 23 d) 32=°
29. Kaleema indicates
a) Monotheism b) Polytheism
c) Five time prayer d) Fasting
3R BReD) T3 LHFIIY ARIRISTS
a) DBITTITIPS b) WBITERTITIGS
C) ST LD TPF D SIRBITYTO d) UEEER BRWIYT
30. The place of worship in Sikh is known as
a) Basadi b) Vihara
c) Gurudwara d) Mandira
285° T3S0F TIT T30 ,-73;@
a) 2030 b) &0
c) mOoom,0 d) R00T
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31. The arrangement of peop! -
d) social stratinc

ation
a) Division of people

c) Social position e aits soert 80 cob@’améd B
S e, saBETRITRET T g 00ds
a) %30 VPSS d) mommT ZIeASRYS
C) mmﬁg%(_\j Word ‘CaSta,-
32. The English word ‘caste’ is derived from m d) German
a) Spanish b) Latin 2 033 BRBRNG.
203> oA 2B00T S0
SOTRIOROR ‘AT FWCIBI) [ARCS e o d) B
a) =R b) e c) RTde
. . wn as
33. The caste group who were deprived of all societal rights are kno .
d) Deprived
a) Downtrodden b) Untouchables c) Poor
ORI BBINPOTI S023BRAOBTIR 200D FOSRBUT ”
a) d950d b) &R 3 c) wEB d) oese
34. called the tribes of India as ‘Girijans’.
a) Jawaharlal Nehru b) Mahatma Gandhi
¢) Raja Rammohan Roy d) Ishwarchandra Vidyasagar
e300 008860 20TEBE) WROR) NORITY 0TI BOTITV.
a) BIOBOLOC® IBIR b) =008 oo
C) Do23000a3)° RRCHR® To0I° d) 833 0723053, DTRANCT
35. The First Backward Class Commision of India was
a) Nagangowda Commission b) Havanur Commission
c) Kalelkar Commission d) B.P.Mandal Commission
470080 &5 S0mVT BT esodnen
a) JNNOE eso3pen b) TowIRT® es03Ren
¢) BeD® eodpen d) R & RoB* s03Ren

\\M\\m‘\—

AR
36. |
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36, I'mnﬂy i8 the basic . of Indian society.

a) (3rge1|'lise.1tion b) Institution

¢) Community d) Association

BOMDOLEY) addcody No2se3 wane

a) Noihbds b) =Bo%

¢) AOTTHOD d) ﬁo‘:'?

37. The English word ‘Family’ is derived from the Latin word
d) Famili

a) Famulus b) Famulie c) Famulae
07 ORon ‘§R800 Wt By, b Yoo B1 BEOE BoSEEYCING
a) PYTOOR® b) FR0e, c) FB0S d) 0
. The primary function of a family is
b) Customs

a) Socialization

c) Belief system d) Communalism

BORDOLITI T5D,53eA08 T -

a) JOTILICITED o) Jilerstanlory

C) SoWdnH d) BRERITIT
39. The Nair joint family is known as

a) lllom b) Tarwad c) Nambudari  d) Gharo

JODT® LT iouoowddgt &oeTy BEODWINIZT

a) QYo b) ZoT=ot® C) S0WRTD d) $e8Re
40. Main feature of joint family is

a) Two kitchens b) Divided property

d) Undivided property

c) Separate houses
0538 Bk B0 FEFOTT
b) Qe sy

a) Q0RO BN =0T
c) I, e8 IIrivd d) eoind ey
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Note: Answerall questions. Ea g
2 2
BRI : DO TIRENL g0, B3 DY i the otal N

Census of India estim il 12.6 Million

$1 SO e9087: mber of Child Labour

41. The 2001 National vt
- n
to be at 10.6 Millio 230 W

TTH ?}.J
a) 2.6 Million b) 5.6 Million w@mﬁ&d e
20015 Toay e Readoh o0 HRBITL,

0T, E90TIDTO
‘ 53T,
a) 2J.S B8, b) 5.6 3T, c) 106

d) 12.6 ©IOT,

of children pelow the g€ of 14 years.
p) Child Labou’ Act 1'986

d) The Indian Factorl
520050 14 TR WS geb euBERS, 2CBTONRIRD :
a) 19520713 500w ) b) sogg che To0wTs 198

C) 19510 3pee3cs ToR0F 30 Fo00T d) ¢eU3s —sgor SRS 5003 1948

42. Act prohibits the employment

a) The Mines Act 1952
c) The Plantation Labour Act 1951

B> DREQRITT.

43. Reason for the Bonded Labour is

a) Poverty and llliteracy b) Globalization

c) Urbanization d) Privatization

233 c_u’%éﬁ B0 5008930333

a) WESS &) BSTO3 b) PNSETTCd

c) SnoesoEd d) s50RNesTED
. In Karnataka, Marathi speaking people are refer to as Linguistic
a) Majority b) Minority c) Equality d) Intellectuals
T B, TOTIV LIOXTT) LT DOT FTCINITVB.
a) WEROLTRI b) ©LoRID  ¢) ARRII d) w%ﬁeaﬂ%

Al

el
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| p een Revolutig ant fao
Im ' g) ar dof inf 0 tors for the globalisation.
2 gprea Niormatign, Tech o B) | World War
= 1/ :gr;f‘f-%f"dz o0 ZI0DT3 S20rags ?y d) Rise of Terrorism
9 ) BACOT203 °
2 .
0) S 20225 33 W3 b) Q3 Roweadanty
ponaldization is a¢f A 9 Hodrmmpsd wured
c ected negat: -
| 6 a) press and Mediag atively on Indian o _system.
&) Food system b) Dress style

2 A=~ )R A o2 d) Marriage system
7,8 BRFPTTED 2dormzeanp oo g -
2 © TR0 33 Yo Soedd Y WeOS
a) T&T R TG 39

;_p-'*d:'"—-cjg b) =) R 9:3“"',-\;
C) e oS %
d) Qe I3 5‘-.3

: yatch the following :

A. Anand Keraj i. Muslims
B. Panigrahana ii. Buddhism

c. Nikah iii. Sikhs

D. DalaiLama iv. Hindus

a) A—iv, B—i, C—iii, D —ii b) A—iv,B—ii, C—i,D—il
c)A—iV,B—iii,C—i,D—ii d)A——iii,B—'N,C-—t,D-—H
2200 WTCAD0

A, e300 Bo0eS° i S0R0

B. moesn®eD i. w’?«cjp
C.oasm i, %87,
D. Jen, D jv. &0TR P

i, D —ii b) A-iv,B-ii C—1,D~H

d) A—iii, B—iv,C~i,D~il

c) A—iv, B—iii, C—i, D=1l
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48. Consider the following statements :
i. Tigers are found in Karnataka, West Ben
ii. Sheeps are reared for bone.
iii. Our national animal is tiger.
iv. India is largest producer of milk.

gal, Uttarakand-

Choose the correct statement y d) iionly
a) i, i and iii only b) i, iii and iv only c) iandivon Y

81 BUNS BewBrT IR0 - o FOTERITIB.
i, B33, IR Lo Tod) eugoeador Tty e BN

ii. RSN B50mER: ‘“D'ﬁ'@:)r{)‘e’d

iii. @030 5&%&4&‘:‘56 Tody, ecﬁ:) &, E8.
iv. g0 28 o) Fwoew em@adé dJaca’od 3.
0 C‘.ﬂ)@’d f:FO:b 5&)@@@ i
. ; i BRG,
a) i, ii d&d)m b) i, iii &3y iv c) iR IV £

|d be within the
49. As per the Indian Constitution, the total reservation quota shou
percentage limit of

a) 30 % 40 % 60 % d) 50 %
za;dé’,-uo&')wadd Z5o3, ?2@3(;@ ) DoeReRs I a:’imra 1 39N 3B DOETLT
a) 30% b) 40% “c) 60% d) 50%
50. Match the following :
A. Brahma Samaja i. Mahayana
B. Digambaras ii. Shaivism
C. Hinayana iii. Arya Samaja
D. Vaishnavism iv. Swethambaras
a) A—ii, B—i,C—iv,D—ii b) A—iii, B—iv,C—ii, D —i
c) A—iii, B—iv,C—i, D —ii d) A—iii,B—ii,C—i,D —i
d@o@ﬂ; NelovsloR
WH AT i. ST
OrioLos i. 3
C. 8o0INS iii. e0DF AR
D. Jxm= Iv. 33000000
a) A —iii, B~i,C—iv, D—ii b) A—ii, B~iv,C~ii, D —i

c) A—iii, B—iv, C—i D—ii d) A—iii, B—ii, C—i, D — iv
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~ 2) Strong and Faithfy N
&) Boudhi and Bog hi b) Vaishﬁg;;é;n and Shaivis

. m
d) Hinayana and Mahayana

N b - 4
. - — '“‘--—---._.__._,__aj r{
a) 7350 Sows ONENN WG dstor g duesereon
c) 0 S e b) s wowy 33
e E d) &

x2. Chnstianity is divided into ) ) BETOIRR Ry Boxeoin

a) Upperand Lowe T an

) |
c) Realand Antj g; gﬁlit;‘olic l;':md Protestants
e above

Jonadnrgsn % 3 TR ) DPRIRRRT.
b) FBeeds* =083 BR3P

e 2 e o d;)s_; e

C) SORANT 3
) SORDT SR &d)c_jp d) aosp
- 53. In 199;3, women'’s representation in local bodies was fixed by Constitution at
a) 50% b) 25% c) 35% d) 33%
199339, gT3eat oS AYecd BogNed) o) #3388 Ampnve Hitdoddomn
DRSS ?
a) 50 % b) 25 % c) 35% d) 33%
54. Main occupation in rural sector, is centered around
a) Fertilizers b) Agro-products
c) Water d) Tractor
- LIPS MEeED TSNS =0, BROLD AT, ROWORRTI
D a) ORNRRYWT b) g euEgRnsd
c) Qe d) & 3°
55. Which of these, is a prominent rural sports ?
a) Cricket b) Hockey c) Kabaddi d) Football
08T M FLEBNTE BBt 803
a) 33&° b) % c) 3R, d) P
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